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Q:1 The following questions are based on the four
sentences given and each sentence is divided into
five parts (A), (B). (c), (D), and (E). Part (E) in
each sentence is fixed and other parts may not be
in the correct sequence. You have to rearrange the
other parts of each sentence to make it
contextually and grammatically correct and then
answer the questions that follow.

1. Two important reports of the Intergovernmental
Panel (A / on Climate Change (IPCC), on the
impact of higher global temperatures (B)/ on
land, oceans and the cryosphere, (C)/ lend further
urgency to the task before countries (D)/ now
meeting in Paris for the UN conference. (E)

2. The need for unprecedented (A)/ and urgent
action (B)/ the new IPCC assessment underscores
(c)/ in all countries that (D)/ have significant
greenhouse gas emissions. (E)

3. In the United States and Canada (A)/ has fallen
by almost 3 billion as a result of (B)/ the research
found that (C)/ the total bird population (D) /
habitat loss and changing food supplies. (E)

4. Under the Paris Agreement, reinforcing the
principle of (A)/ to developing countries (B)/ to
provide liberal, transparent funding (C)/ It
strengthens the case for industrialized nations
(D)/ common But Differentiated Responsibilities
and Respective Capabilities. (E)

Which of the following is the correct sequence of
sentence (1)?

1. ACDBE

2. CABDE

3. CBDAE

4. ACBDE

5. ABCDE

Q:2 The following questions are based on the four
sentences given and each sentence is divided into
five parts (A), (B), (¢), (D), and (E). Part (E) in
each sentence is fixed and other parts may not be
in the correct sequence. You have to rearrange the
other parts of each sentence to make it
contextually and grammatically correct and then
answer the questions that follow.
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1. Two important reports of the Intergovernmental
Panel (A |/ on Climate Change (IPCC), on the
impact of higher global temperatures (B)/ on
land, oceans and the cryosphere, (C)/ lend further
urgency to the task before countries (D)/ now
meeting in Paris for the UN conference. (E)

2. The need for unprecedented (A)/ and urgent
action (B)/ the new IPCC assessment underscores
(c)/ in all countries that (D)/ have significant
greenhouse gas emissions. (E)

3. In the United States and Canada (A)/ has fallen
by almost 3 billion as a result of (B)/ the research
found that (C)/ the total bird population (D) /
habitat loss and changing food supplies. (E)

4. Under the Paris Agreement, reinforcing the
principle of (A)/ to developing countries (B)/ to
provide liberal, transparent funding (C)/ It
strengthens the case for industrialized nations
(D)/ Common But Differentiated Responsibilities
and Respective Capabilities. (E)

Which of the following is the correct sequence of
the sentence (2)?

1. CBADE

2. CABDE

3. ACBDE

4. DCABE

5. ABCDE

Q:3 The following questions are based on the four
sentences given and each sentence is divided into
five parts (A), (B). (c). (D), and (E). Part (E) in
each sentence is fixed and other parts may not be
in the correct sequence. You have to rearrange the
other parts of each sentence to make it
contextually and grammatically correct and then
answer the questions that follow.

1. Two important reports of the Intergovernmental
Panel (A / on Climate Change (IPCC), on the
impact of higher global temperatures (B)/ on
land, oceans and the cryosphere, (C)/ lend further
urgency to the task before countries (D)/ now
meeting in Paris for the UN conference. (E)

2. The need for unprecedented (A)/ and urgent
action (B)/ the new IPCC assessment underscores
(c)/ in all countries that (D)/ have significant
greenhouse gas emissions. (E)

3. In the United States and Canada (A)/ has fallen
by almost 3 billion as a result of (B)/ the research
found that (C)/ the total bird population (D) /
habitat loss and changing food supplies. (E)
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4. Under the Paris Agreement, reinforcing the
principle of (A)/ to developing countries (B)/ to
provide liberal, transparent funding (C)/ It
strengthens the case for industrialized nations
(D)/ common But Differentiated Responsibilities
and Respective Capabilities. (E)

Which of the following is the correct sequence of
the sentence (3)?

1. ACBDE

2. BCDAE

3. CADBE

4. DCABE

5. ABCDE

Q:4 The following questions are based on the four
sentences given and each sentence is divided into
five parts (A), (B). (c), (D), and (E). Part (E) in
each sentence is fixed and other parts may not be
in the correct sequence. You have to rearrange the
other parts of each sentence to make it
contextually and grammatically correct and then
answer the questions that follow.

1. Two important reports of the Intergovernmental
Panel (A)/ on Climate Change (IPCC), on the
impact of higher global temperatures (B)/ on
land, oceans and the cryosphere, (C)/ lend further
urgency to the task before countries (D)/ now
meeting in Paris for the UN conference. (E)

2. The need for unprecedented (A)/ and urgent
action (B)/ the new IPCC assessment underscores
(c)/ in all countries that (D)/ have significant
greenhouse gas emissions. (E)

3. In the United States and Canada (A)/ has fallen
by almost 3 billion as a result of (B)/ the research
found that (C)/ the total bird population (D) /
habitat loss and changing food supplies. (E)

4. Under the Paris Agreement, reinforcing the
principle of (A)/ to developing countries (B)/ to
provide liberal, transparent funding (C)/ It
strengthens the case for industrialized nations
(D)/ Common But Differentiated Responsibilities
and Respective Capabilities. (E)

Which of the following is the correct sequence of
the sentence (4)?

1. DBCAE

2. DCBAE

3. BCDAE

4. BCADE

5. ABCDE
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Q:5 The following questions are based on the four
sentences given and each sentence is divided into
five parts (A), (B), (c). (D), and (E). Part (E) in
each sentence is fixed and other parts may not be
in the correct sequence. You have to rearrange the
other parts of each sentence to make it
contextually and grammatically correct and then
answer the questions that follow.

1. Two important reports of the Intergovernmental
Panel (A / on Climate Change (IPCC), on the
impact of higher global temperatures (B)/ on
land, oceans and the cryosphere, (C)/ lend further
urgency to the task before countries (D)/ now
meeting in Paris for the UN conference. (E)

2. The need for unprecedented (A)/ and urgent
action (B)/ the new IPCC assessment underscores
(c)/ in all countries that (D)/ have significant
greenhouse gas emissions. (E)

3. In the United States and Canada (A)/ has fallen
by almost 3 billion as a result of (B)/ the research
found that (C)/ the total bird population (D) /
habitat loss and changing food supplies. (E)

4. Under the Paris Agreement, reinforcing the
principle of (A)/ to developing countries (B)/ to
provide liberal, transparent funding (C)/ It
strengthens the case for industrialized nations
(D)/ common But Differentiated Responsibilities
and Respective Capabilities. (E)

Three out of four sentences, when rearranged, form
a coherent paragraph. Find the sentence that does
not fit into the major theme of the passage.

1.1
2.2
3.3
4.4
5. None of these

Q:6 Direction: In the question given below, following
sentences are given in a jumbled form. Make a
coherent paragraph and answer the given
questions.
= Rising sea temperatures are causing coral
reefs to die off and negatively impacting
marine life.
= Climate change is causing sea levels to rise,
leading to the loss of coastal habitats and
increased flooding.
= The increasing levels of carbon dioxide in the
atmosphere are being absorbed by the
oceans, leading to changes in their chemistry.
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= The use of renewable energy sources, such as
wind and solar power, can help reduce the
impact of climate change on the oceans.

= The increasing acidification of the oceans is
making it difficult for shellfish and other sea
creatures to build and maintain their
protective shells.

= The melting of Arctic sea ice is causing
changes in ocean currents and affecting the
distribution of fish species.

Which one of the following is the THIRD statement
of the paragraph after rearrangement?

11
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Q:7 Direction: In the question given below, following
sentences are given in a jumbled form. Make a
coherent paragraph and answer the given
questions.
= Rising sea temperatures are causing coradl
reefs to die off and negatively impacting
marine life.
= Climate change is causing sea levels to rise,
leading to the loss of coastal habitats and
increased flooding.
= The increasing levels of carbon dioxide in the
atmosphere are being absorbed by the
oceans, leading to changes in their chemistry.
= The use of renewable energy sources, such as
wind and solar power, can help reduce the
impact of climate change on the oceans.
= The increasing acidification of the oceans is
making it difficult for shellfish and other sea
creatures to build and maintain their
protective shells.
= The melting of Arctic sea ice is causing
changes in ocean currents and affecting the
distribution of fish species.

Which one of the following is the LAST statement of

the paragraph after rearrangement?
1.4

.1

.5
.6
.3
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Q:8 Direction: In the question given below, following
sentences are given in a jumbled form. Make a
coherent paragraph and answer the given
questions.
= Rising sea temperatures are causing coral
reefs to die off and negatively impacting
marine life.
= Climate change is causing sea levels to rise,
leading to the loss of coastal habitats and
increased flooding.
= The increasing levels of carbon dioxide in the
atmosphere are being absorbed by the
oceans, leading to changes in their chemistry.
= The use of renewable energy sources, such as
wind and solar power, can help reduce the
impact of climate change on the oceans.
= The increasing acidification of the oceans is
making it difficult for shellfish and other sea
creatures to build and maintain their
protective shells.
= The melting of Arctic sea ice is causing
changes in ocean currents and affecting the
distribution of fish species.

Which one of the following statements should
consecutively  follow statement (1)  after
rearrangement?

1.6

.3
.2
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Q:9 Direction: In the question given below, following
sentences are given in a jumbled form. Make a
coherent paragraph and answer the given
questions.
= Rising sea temperatures are causing coral
reefs to die off and negatively impacting
marine life.
= Climate change is causing sea levels to rise,
leading to the loss of coastal habitats and
increased flooding.
= The increasing levels of carbon dioxide in the
atmosphere are being absorbed by the
oceans, leading to changes in their chemistry.
= The use of renewable energy sources, such as
wind and solar power, can help reduce the
impact of climate change on the oceans.
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= The increasing acidification of the oceans is
making it difficult for shellfish and other sea
creatures to build and maintain their
protective shells.

= The melting of Arctic sea ice is causing
changes in ocean currents and affecting the
distribution of fish species.

Which one of the following statements should
consecutively  follow  statement (5) after
rearrangement?

1.4
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Q:10 Direction: In the question given below,
following sentences are given in a jumbled form.
Make a coherent paragraph and answer the given
questions.
= Rising sea temperatures are causing coradl
reefs to die off and negatively impacting
marine life.
= Climate change is causing sea levels to rise,
leading to the loss of coastal habitats and
increased flooding.
= The increasing levels of carbon dioxide in the
atmosphere are being absorbed by the
oceans, leading to changes in their chemistry.
= The use of renewable energy sources, such as
wind and solar power, can help reduce the
impact of climate change on the oceans.
= The increasing acidification of the oceans is
making it difficult for shellfish and other sea
creatures to build and maintain their
protective shells.
= The melting of Arctic sea ice is causing
changes in ocean currents and affecting the
distribution of fish species.

Choose the correct sequence of the paragraph
after rearrangement.

1. 64251
2. 34521
3.16523
4. 32145
5. 12453
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IAnswer Key
1. (5) 2. (2) 3. (3) 4. (2) 5. (3)
6.(2) 7.(5) 8. (1) 9. (4) 10. (3)

IAnswers and Solutions

Q:1 The correct answer is Option 5 i.e. ABCDE.

= The sentence will begin with the part ‘A’ as it
introduces a subject i.e. two reports’. All other
parts are dependent on some other part.

= ‘A" will be followed by the part B’ as the full
form of IPCC is intergovernmental panel on
climate change and ‘intergovernmental
panel’ is given in the part ‘A" and ‘on climate
change’ is given in the part ‘B. Hence, these
two parts should be in the sequence.

= Part ‘B' talks about the impact of high
temperature and the part ‘C’ talks about what
takes the impact of high
temperatures. Hence, B will be followed by ‘C’.

= So, we have got a sequence ‘ABC’ which is
given in option 5 only. So we do not have to
arrange other parts and our answer will be
option 5.

The sentence is: Two important reports of the
Intergovernmental Panel on Climate Change
(pcc), on the impact of higher global
temperatures on land, oceans and the cryosphere,
lend further urgency to the task before countries
now meeting in Paris for the UN conference.

Hence, the correct answer is Option b i.e. ABCDE.

Q:2 The correct answer is Option 2 i.e. CABDE.

= |t seems that there are two parts from which
the sentence can begin i.e. part ‘A’ and the
part ‘C’ but if we begin the sentence with the
part ‘C’ it makes a complete meaningful
sentence.

= The part ‘C’ talks about the emphasis given
by the assessment of IPCC.

= Now, part ‘A’ talks about something upon
which IPCC is emphasizing i.e. need for
something.

= Further, part B talks about what is the need
that part ‘A’ talks about i.e. urgent action.

= SO, we have got a sequence i.e. ‘CAB and this
is given in one option only i.e. option 2. Hence,
it is the correct answer.
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The sentence is: The new IPCC assessment
underscores the need for unprecedented and
urgent action in all countries that have significant
greenhouse gas emissions.

Hence, the correct answer is Option 2 i.e. CABDE.

Q:3 The correct answer is Option 3 i.e. CADBE.

= The sentence will begin with the part ‘C’ as it
talks about a report and the whole sentence
is based on that report.

= Part ‘C’ will be followed by the part ‘A" as the
report talked about in the part ‘C must be
based on a research and the research must
have been carried out somewhere. So, part ‘A’
fits in the context of the given sentence.

= Now, the part ‘D’ will be followed by the part B’
because the subject of the report ie. bird
population is given in the part D and the
effect on bird population ie. fall in bird
population is given in the part B’

= So, we have got a sequence i.e. ‘CADB and
this is given in one option only i.e. option 3.
Hence, it is the correct answer.

The sentence is: The research found that in the
United States and Canada the total bird
population has fallen by almost 3 billion as a result
of habitat loss and changing food supplies.

Hence, the correct answer is Option 3 i.e. CADBE.

Q:4 The correct answer is Option 2 i.e. DCBAE.

= There are two parts with which the sentence
can begin i.e. part ‘A’ and part D

= Now, there is only option in which the
sentence begin ‘A’ i.e. ABCDE. Hence, ‘A" must
be followed by B

= But if we look at the sentence there is a
preposition at the end of the part ‘A’ i.e. of and
there is a preposition to’ at the beginning of
the part ‘B’

= We if connect these two parts the sentence
does not make any sense.

= Now, we will go with the part D.

= The part ‘D’ talks about the strengthening the
case of something and the case is given in
the part ‘C’ i.e. to provide funding.

= Now, the funding will be provided to someone
like an individual, an organization or to a
country or countries.
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= This is given in the part B i.e. to developing
countries. Hence, we have got a sequence i.e.
‘DCB.

= And this sequence is given in one option only
i.e. option 2. Hence, it is the correct answer.

The sentence is: It strengthens the case for
industrialized nations to provide liberal,
transparent funding to developing countries under
the Paris Agreement, reinforcing the principle
of Common But Differentiated Responsibilities and
Respective Capabilities.

Hence, the correct answer is Option 2 i.e. DCBAE.

Q:5 The correct answer is Option 3 i.e. 3.

If we look at the sentences given in the question
we will find that the sentence 1, 2 and 4 talk about
IPCC, its report and what the report emphasizing
upon.

The report does not give any inference about the
fall in population of birds, animals, etc.

The sentence 3 does not fit in the theme of the
passage.

Hence, the correct answer is Option 3 i.e. 3.

Q:6 The correct answer is option 2 i.e. 5.
Correct order: 16523

= Sentence Isets the stage by introducing the
topic of the impact of climate change on the
world's oceans. It mentions that rising sea
temperatures are causing coral reefs to die
and negatively impacting marine life.

= Sentence 6 continues the discussion by
explaining how the melting of Arctic sea ice is
causing changes in ocean currents and
affecting the distribution of fish species.

= Sentence 5 furthers the discussion by
highlighting the impact of increasing
acidification of the oceans. It explains that the
acidification is making it difficult for shellfish
and other sea creatures to build and
maintain their protective shells.

= Sentence 2 builds on the discussion by
explaining how climate change is causing
sea levels to rise and leading to the loss of
coastal habitats and increased flooding.

= Sentence 3 further highlights the impact of
climate change on the oceans by mentioning
the increasing levels of carbon dioxide in the
atmosphere and how it is being absorbed by
the oceans and leading to changes in their
chemistry.
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In this jumbled paragraph, sentence 4 is the odd
one out, but it is difficult to differentiate from the
other sentences because it still discusses the
impact of climate change on the world's oceans.
However, instead of describing the negative
impacts, it mentions a solution to help reduce the
impact, making it a slightly different topic than the
other sentences.

Q:7 The correct answer is option 5 i.e. 3.
Correct order: 16523

= Sentence Isets the stage by introducing the
topic of the impact of climate change on the
world's oceans. It mentions that rising sea
temperatures are causing coral reefs to die
and negatively impacting marine life.

= Sentence 6 continues the discussion by
explaining how the melting of Arctic sea ice is
causing changes in ocean currents and
affecting the distribution of fish species.

= Sentence 5 furthers the discussion by
highlighting the impact of increasing
acidification of the oceans. It explains that the
acidification is making it difficult for shellfish
and other sea creatures to build and
maintain their protective shells.

= Sentence 2 builds on the discussion by
explaining how climate change is causing sea
levels to rise and leading to the loss of
coastal habitats and increased flooding.

= Sentence 3 further highlights the impact of
climate change on the oceans by mentioning
the increasing levels of carbon dioxide in the
atmosphere and how it is being absorbed by
the oceans and leading to changes in their
chemistry.

In this jumbled paragraph, sentence 4 is the odd
one out, but it is difficult to differentiate from the
other sentences because it still discusses the
impact of climate change on the world's oceans.
However, instead of describing the negative
impacts, it mentions a solution to help reduce the
impact, making it a slightly different topic than the
other sentences.

Q:8 The correct answer is option 1i.e. 6.
Correct order: 16523
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= Sentence Isets the stage by introducing the
topic of the impact of climate change on the
world's oceans. It mentions that rising sea
temperatures are causing coral reefs to die
and negatively impacting marine life.

= Sentence 6 continues the discussion by
explaining how the melting of Arctic sea ice is
causing changes in ocean currents and
affecting the distribution of fish species.

= Sentence 5 furthers the discussion by
highlighting the impact of increasing
acidification of the oceans. It explains that the
acidification is making it difficult for shellfish
and other sea creatures to build and
maintain their protective shells.

= Sentence 2 builds on the discussion by
explaining how climate change is causing
sea levels to rise and leading to the loss of
coastal habitats and increased flooding.

= Sentence 3 further highlights the impact of
climate change on the oceans by mentioning
the increasing levels of carbon dioxide in the
atmosphere and how it is being absorbed by
the oceans and leading to changes in their
chemistry.

In this jumbled paragraph, sentence 4 is the odd
one out, but it is difficult to differentiate from the
other sentences because it still discusses the
impact of climate change on the world's oceans.
However, instead of describing the negative
impacts, it mentions a solution to help reduce the
impact, making it a slightly different topic than the
other sentences.

Q:9 The correct answer is option 4 i.e. 2.
Correct order: 16523
= Sentence 1 sets the stage by introducing the
topic of the impact of climate change on the
world's oceans. It mentions that rising sea
temperatures are causing coral reefs to die
and negatively impacting marine life.
= Sentence 6 continues the discussion by
explaining how the melting of Arctic sea ice is
causing changes in ocean currents and
affecting the distribution of fish species.
= Sentence 5 furthers the discussion by
highlighting the impact of increasing
acidification of the oceans. It explains that the
acidification is making it difficult for shellfish
and other sea creatures to build and
maintain their protective shells.
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= Sentence 2 builds on the discussion by
explaining how climate change is causing sea
levels to rise and leading to the loss of
coastal habitats and increased flooding.

= Sentence 3 further highlights the impact of
climate change on the oceans by mentioning
the increasing levels of carbon dioxide in the
atmosphere and how it is being absorbed by
the oceans and leading to changes in their
chemistry.

In this jumbled paragraph, sentence 4 is the odd
one out, but it is difficult to differentiate from the
other sentences because it still discusses the
impact of climate change on the world's oceans.
However, instead of describing the negative
impacts, it mentions a solution to help reduce the
impact, making it a slightly different topic than the
other sentences.

Q:10 The correct answer is option 3 i.e. 16523,
Correct order: 16523

= Sentence 1 sets the stage by introducing the
topic of the impact of climate change on the
world's oceans. It mentions that rising sea
temperatures are causing coral reefs to die
and negatively impacting marine life.

= Sentence 6 continues the discussion by
explaining how the melting of Arctic sea ice is
causing changes in ocean currents and
affecting the distribution of fish species.

= Sentence 5 furthers the discussion by
highlighting the impact of increasing
acidification of the oceans. It explains that the
acidification is making it difficult for shellfish
and other sea creatures to build and
maintain their protective shells.

= Sentence 2 builds on the discussion by
explaining how climate change is causing sea
levels to rise and leading to the loss of
coastal habitats and increased flooding.

= Sentence 3 further highlights the impact of
climate change on the oceans by mentioning
the increasing levels of carbon dioxide in the
atmosphere and how it is being absorbed by
the oceans and leading to changes in their
chemistry.
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In this jumbled paragraph, sentence 4 is the odd
one out, but it is difficult to differentiate from the
other sentences because it still discusses the
impact of climate change on the world's oceans.
However, instead of describing the negative
impacts, it mentions a solution to help reduce the
impact, making it a slightly different topic than the
other sentences.
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